ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

	CHYV	Haul	ina.	BID BOND IS A	NOT REQUIRED.
NAME OF BIDDER	Road	Sulva	NC	28779	
ADDRESS OF BIDDER)	7,		Angel April 1	

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$0.00	\$ 0.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$ 130.00	\$ 65,000.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$ 135.00	\$ 67,500.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$ 0.00	\$ 0.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$ 0.00	\$0.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$ 0.00	\$0.00
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$0.00	\$0.00

TOTAL BID FOR PROJECT: \$132,500.00	The state of the s
Contractor: Carroll Gentry Hauling, INC. Address: 8,3 McCoy Road, Sylva, NC 28779 Phone: (828) 646-1482 Federal Id: 45-3028778	_
Contractor's License Number: Authorized Agent Carroll Genty Signature: Date: 3-5-25	

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY **ROUTE NO.:**

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

2709 Grass

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

TOTAL BID FOR PROJECT:__

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	0.00	0.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$150.00/m.	\$ 150.00/m.
3	Quad-Axle Dump Truck W/ Operator	500	HR	0.00	0.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	0.00	0.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$200.00/m	\$200.00/nr.
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$ 225.00/m.	\$225.00/m.
~	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$ 175.00/m.	\$175,00/m.

56
6

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PRO	Clading	And	Hauling		IS NOT REQUIRED.
NAME OF BIDDER	— · · · · · · ·		J		
3420 NC ª	8 Germa	nton	NC Z	27019	
ADDRESS OF BIDDER	ès.			- W. W. J	F SEE ST.

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$0,00	BO,00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$15.00	\$57,500
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$125,00	\$62,500
4	Quint-Axle Dump Truck W/ Operator	500	HR	B0.00	€ O. 00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$150,00	822,500
	Road Tractor w/ Lowboy Trailer & Operator	150	HR	H175,00	\$26,250
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$125,00	\$62,500

TOTAL BID FOR PROJECT: 5231, 250
Contractor: Stewarts brading + Hawling Inc
Address: 3420 pc 8 165 Hay bermanton NC 27019
Phone: 336 467-342/ Federal Id: 20-8410548
Contractor's License Number: 6898/
Authorized Agent: Adam Stewart Title: Treasure
Signature: Date: 2-12-25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

MCDOWELL

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

KKR Enterprise L.L.C.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

367 Found Ridge Road Taylorsville N.C. 286

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the Standard Specifications, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	100,00	\$50,000,00
2	Tri-Axle Dump Truck W/ Operator	500	HR	10500	\$52,500,00
3	Quad-Axle Dump Truck W/ Operator	500	HR	109.00	\$54,000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	108,00	\$ 54,000.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	129,00	\$ 19,350,00
	Road Tractor w/ Lowboy Trailer & Operator	150	HR	160.00	\$ 24,060,00
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	138,00	\$ 69,000,00

TOTAL BID FOR PROJECT: \$ 322,850,00
ontractor: KKR Enterprise LLC. ddress: 367 Found Ridge Road Taylorsville NL. 28681 hone: 828-234-8708 Federal Id: 33-1519553
ontractor's License Number:
gnature: RevinRichy Title: Owner president Date: 3-4-25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

MCDOWELL

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Kelly Logistics and Transportation LLC

NAME OF BIDDER

130 E court St unit 2134 Rutherfordton, NC 28139

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$100 00	\$ 50,000 00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$110 00	\$ 55,000 00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$11500	\$ 57,500 00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$ 12000	\$ 40,000 30
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$12000	\$ 18,000 00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$120 00	\$18,000 00
8 ni 7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$13000	\$ 65,000 00

TOTAL BID FOR PROJECT: \$323,500 00
Contractor: Kelly Logistics and Transportation LLC
Address: 130 E Court St unit 2136 Rutherfordton, NC 28134
Phone: 828-919-0584 Federal Id: 84-5111244
Contractor's License Number:
Authorized Agent:
Signature:

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Shown Lackey Excavating IC

309 Johnson Farm Rd Hiddenile NC 28636

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	98 -	49000-
2	Tri-Axle Dump Truck W/ Operator	500	HR	108-	54000-
3	Quad-Axle Dump Truck W/ Operator	500	HR	118-	59000-
4	Quint-Axle Dump Truck W/ Operator	500	HR	128-	64000-
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	128-	19200-
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	128-	19200-
7	Road Tractor w/ 50 Ton Dump Traifer & Operator	500	HR	128-	64000-

TOTAL BID FOR PROJECT: 526400
Contractor: Shaun Lacky Excavating LLC Address: 309 Johnson Farm Rd Hiddenite NC 28636
Phone: 704 880 330 Federal Id: 56-2194092 Contractor's License Number: 88403
Authorized Agent: Kani & Lacles Title: pres. Signature: Date: 3-4-25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

ADVANCED HAULING LLC

NAME OF BIDDER

62 S LINDON COVE RD, CANDLER, NC 28715

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

TOTAL BID FOR PROJECT: \$350000

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$118	\$59000
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$120	\$60000
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$120	\$60000
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$120	\$60000
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$120	\$18000
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$120	\$18000
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$150	\$75000

Contractor: Advanced Hauling LLC	
Address: 62 S LINDON COVE RD, CANDLE	R, NC 28715
Phone: 828.747.2919	Federal Id: 93-4814117
Contractor's License Number:	
Authorized Agent: Vasiliy Klimovich	Title: Owner
Signature: Lasting	Date: 03/03/2025

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

ADDRESS OF BIDDER Y FAIMLA Taylorsville NC 28681

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	107-	53500-
2	Tri-Axle Dump Truck W/ Operator	500	HR	117-	58500-
.3	Quad-Axle Dump Truck W/ Operator	500	HR	127-	63500-
4	Quint-Axle Dump Truck W/ Operator	500	HR	137-	68500-
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	137 -	20550-
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	137-	20550-
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	137-	68.500

Contractor: CLATE LLC
Address: 415 Riches Fam La Taylorsville NK 28681
Phone: 828 312 8276 Federal Id: 88409 3307
Contractor's License Number: 105427
Authorized Agent: Cases Riches Title: Pros
Signature: Date: 3/4/25

TOTAL BID FOR PROJECT: 353600

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D

D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

MCDOWELL

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Forga Contracting, Inc. NAME OF BIDDER

PO Box 586 Hazelwood, NC 28738

T-1

Contract Number:

D13POC.059.19227 To Be Determined

FA Number: WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the Standard Specifications, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$150.00	\$75000.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$155.00	\$77500.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$160.00	\$80000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$0.00	
	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$175.00	\$0.00 \$26250.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$200.00	\$30000.00
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$200.00	\$100000.00

TOTAL BID FOR PROJECT:_	\$388750.0	00
Contractor: Forga Contracting, Inc		
Address: PO Box 586 Hazelwood, NC 287	38	
Phone: 828-506-1158	Federal Id: _	56-1928453
Contractor's Ligense Number:		
Authorized Agent: W. Scott Forga	1//	Title: <u>President</u>
Signature:		Date: <u>03/03/2025</u>
	Y	

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID:

D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

MCDOWELL

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	100	5000
2	Tri-Axle Dump Truck W/ Operator	500	HR	125	62500
3	Quad-Axle Dump Truck W/ Operator	500	HR	125	62500
4	Quint-Axle Dump Truck W/ Operator	500	HR	150	75000
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	200	30000
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	200	30000
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	200	100000

TOTAL BID FOR PROJECT: 4 1000
Contractor: Little 1/5 Enterprise LLC Address: P. D. 130x-1527 Forest City NC 28043 Phone: 828-429-5722 Federal Id: 46-2992143
Contractor's License Number:
Authorized Agent: SAMES CAMP Title: Mrg Member Date: 3-5-25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Shearon Trucking and Excavating LLC

NAME OF BIDDER

6125 Hwy 41A, Pleasant View, TN 37146

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the Standard Specifications, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$125.00	\$62,500.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$150.00	\$75,000.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$160.00	\$80,000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$160.00	\$80,000.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$150.00	\$22,500.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$180.00	\$27,000.00
_	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$180.00	\$90,000.00

		racking and Excat	ating LLC	
ddress:	6125 Hwy	41A, Pleasant View	v, TN 37146	;
none: (615) 982-9892		Federal Id:	92-2664162	
ontractor's License Nun	ıber:	N/A		
nthorized Agent:	Joey S	hearon	Title:	Owner
			Title: Date:	

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

MCDOWELL

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.	Phil Roger	D BOND IS NOT REQUIRED.
NAME OF BIDDER)	
492 HUSCUSSON	Dr Franklin	NC 28734
ADDRESS OF BIDDER		The state of the s

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	125.00	62.500.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	150.00	75.000.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	150.00	75.000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	180.00	90.000.00
	Road Tractor w/ Flatbed Trailer & Operator	150	HR	150.00	22.500.00
	Road Tractor w/ Lowboy Trailer & Operator	150	HR	150.00	22.500.00
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	180.00	90.000.00

Contractor: Phil Rogers Horsemanship Address: 492 HUSCUSSON Or Franklin NC 28734
Address: 492 HUSCUSSON OF Franklin NC 28734
Phone: 828-200-2901 Federal Id: 33-2712381
Contractor's License Number:
Authorized Agent: Phil Rogers Title: Owner
Signature: Phi Rozan Date: 2/23/2025

TOTAL BID FOR PROJECT: \$ 437.500.00

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

105 Pete Luther Boad Camber UC 28715

bradina

Contract Number: FA Number:

D13POC.059.19227 To Be Determined

WBS Element:

Various

Description:

various

County:

Provide Hauling Equipment Upon Request McDowell

MeBowel

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$135,00	\$67,500,00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$ 140,00	\$70,000°00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$ 145.00	\$ 72,500.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$ 150,00	\$ 75,000.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	a	\$33,750,00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$ 225.00	*33,7500°
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	8	\$112,500,00

TOTAL BID FOR PROJECT: \$465,	000.00
Contractor: Old North State Grading, INC Address: 105 Pete Luther Rd Candler	NC 08715
Phone: <u>828-442-1714</u> Federal Id: _	82-2467826
Contractor's License Number: NIA	
Authorized Agent: Danielle Wilson Signature: Canally Wilson	Title: Quner
Signature: Cancellullu	Date: 3/3/2005

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

MCDOWELL

ROUTE NO .:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

Paul L. Dillard DBA: FOOThills Masonry + Excavation, LCC NAME OF BIDDER

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	# 175	\$ 87,500
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$ 175	\$ 87,500
3	Quad-Axle Dump Truck W/ Operator	500	HR	# 175	\$ 87,500
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$ 200	\$ 100,000
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	* 200	\$ 30,000
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$ 9w	\$ 30,000
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	# 200	*100.000

TOTAL BID FOR PROJECT: \$522, 500, 50
Paul L. Dillars
Contractor: DBA: FOOTIGITS Masonry + Excavation, LC
Address: 698 Sam Poole LN. Parlosville, 402868
Phone: 828-328-3175 Federal Id: 056-2177862
Contractor's License Number:
Authorized Agent: Hay L. Dillard Title: Owner
Signature:

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Doones Trucking and crane LLC

ADDRESS OF BIDDER POR 217 Spruce Pine, NC 28777

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$250.00	\$125,000.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$165,00	\$82,500.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$175.00	\$87,500.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$185.00	\$192,500.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$400.00	\$60,000.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	£ 400.00	\$60,000.00
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$400.00	\$200,000.00

		i
Contractor: BOONE's Trucking and crane LLC Address: 167 Roan Road / P.O Box 217 spruce fine, NC Phone: 828-765-2762/cell 828-385-3973 Federal Id: 85-2		
Address: 167 Roun Road / P.O Box 217 spruce fine, No	28777	
Phone: 828-765-2762/cell 828-385-3973 Federal Id: 85-2	643807	
Contractor's License Number:		
Authorized Agent: Cheyenne Ruthburn Signature: Chyn Rath	Title: corp sec	
Signature: Chypn Rath	Date: 3-4-25	

TOTAL BID FOR PROJECT: \$\107,500,00

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: MCDOWELL

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

OR BOX 290 FOR MANY NC 28634

ADDRESS OF BIDDER

Contract Number:

D13POC.059.19227 To Be Determined

FA Number: WBS Element:

Various

Description:

County:

Provide Hauling Equipment Upon Request

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	250,00	125000,00
2	Tri-Axle Dump Truck W/ Operator	500	HR	250,60	125000,00
3	Quad-Axle Dump Truck W/ Operator	500	HR	250.00	125000,00
4	Quint-Axle Dump Truck W/ Operator	500	HR	250,00	125000.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	300. OD	45000.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	300.00	45000.00
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	300,00	150000.00

TOTAL BID FOR PROJECT: 4740,000.00
Contractor: Country Boy Candscaping, 10(. Address: 10. Box 290 Harmony, NC 28634 Phone: 104-924-9330 Federal d: 56-2157111
Contractor's License Number: 67108
Authorized Agent: Chi's C. Cartner Title: President
Authorized Agent: Chi's C. Cartner Signature: Date: 3/3/25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.059.19227

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

MCDOWELL

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

The Freedom Shield LLC

NAME OF BIDDER

P.O. Box 112 Skyland, NC 28776

BID FORM

Contract Number:

D13POC.059.19227

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

McDowell

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$182	\$91000
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$189	\$94500
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$194	\$97000
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$309	\$154500
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$643	\$96450
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$643	\$96450
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$643	\$321500

TOTAL BID FOR PROJECT: \$951,400	
Contractor: The Freedom Shield	
Address: P.O. Box 112 Skyland, NC 28776	
Phone:937-397-9630	
Contractor's License Number:	
Authorized Agent: Samuel Sell	Title: CEO
Signature: Samuel Bell	Date:2/28/2025